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Note: This paper is of seventy (70) marks divided into three (03) sections A, B, and C. Attempt the
questions contained in these sections according to the detailed instructions given therein.
sic : Ig Usauy gae (70) 3¥H 1 ¥ o e (03) Wi &, @, dur o I Rwnforg ¥ udd

s 3 fAu o freqa it & sregene & gl B 7@ Feam B

Section - A | @vs—%
(Long Answer Type Questions) /(@a-3ada yze)
Note: Section 'A’ contains five (05) long-answer-type questions of fifteen (15) marks each. Attempt any
three questions. (3%x15=45)
dic : @Wus ‘@ F urg (05) df-3udty vse W ¥, uds usa & fow uzg 3w forgiRa ¥
frsgt dter geait & Iae AR
1. vg. . ot oY For ¥? = oy & el o Rege afd Y gur wet dsar o
garg |
What is HMP pathway? Detail its steps along with significance.
2. Fioegio F fora forafor gftar o7 Regare gvfar A =7 ufbar o G 3 dar 32
foro & ol For ¥2 aofa el

Discuss the steps of bile salts formation from cholesterol. How is this process regulated? What are
the functions of bile salts? Describe.

3. wunew fdfdaa & uRala wt| wfdfus & Rifde gerh o Rega g ]
Define enzyme inhibition. Explain in detail the different types of inhibitions.

4, g & o9 Heovwr I Hafead Rafte afda oofe wifem|
Describe biosynthesis of heme with its disorders.

5. diferr o aRwmfde wa aoffes & gor difer & RifFede Bae & Rdgear w|

Define and classify Jaundice and describe laboratory tests for Jaundice along with its clinical
interpretation.

Section - B /| @wvs-@
(Short Answer Type Questions) /(eg-3adiear gze)
Note: Section 'B' contains Six (06) short-answer-type questions of five (05) marks each. Attempt any
four (04) questions. (4x5=20)
dic : @us @ F B (06) og-3TYT Uza W o ¥, udF uyead I fow urg 3w RrafRa Tl
fhegt a1e uzell & Iue dfonl

1. dre Resfow, Tk wedhe dar gAfadd & Safod Agar o avia Hifene|

Discuss the diagnostic significance of lactate dehydrogenase (LDH), alkaline phosphatase (ALP)
and transaminases.
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. & Ifdy NdaRey Tweer & g 30 whygfdery e F afye ¥ Rred dids
T BT AT FAT § T I8 For RAiffer weraiiREr A gnfda wear ¥ g8 T #w
(37) 39 Oy & ®T T ¥2 (@) T WS I RIT Eedoid uRkada SaT §72
A person is suffering from a neurodegenerative disease caused by “proteinaceous” infectious agents.
This disease is caused by misfolded forms of protein and also affects different mammals. Clarify
that -

(A)What is the name of the disease? (B) What is the structural change in the protein?

3. HbA W HbS & sdarERRRE MRS & waeaar & g Tale srae For 372
What is the biochemical basis of difference in the electrophoretic mobilities of HbA and HbS?

4. WIfss Uos =porar F e g Tt H osad adr ¥ samsul
Enumerate biochemical impairments in deficiency of folic acid.

5. AR wT ¥? Fdfenic & Hof i sad yder o Rl
What is Isomerism? Write down its types with respect to carbohydrate.

6. 60 giffor v =fFw & NfeaRer, MfdRkawr, MR w gua =gaar o Breed §

et Rafd & a3 v o9 & doue i da-da F udhaol F Fear RT Fom?

A man aged 60 years came with complaints of polyuria, polydipsia and polyphagia and loss of

weight. Urine and blood specimens of the patient are available. Which tests do you prefer on the

above samples?

Section - C / @us-or
(Objective Type Questions) /(aegferss gzer)

Note: Section 'C' contains ten (10) objective-type questions of half (0.5) mark each. All the questions of
this section are compulsory. (10x0.5=05)

dic : @us ‘or & & (10) axgfors year e o ¥, udd uzer & féw swear (0.5) 31w forafRa
¥ 5 wWus & Gl ggor siferaret ¥l

1. FIGLU 3TSfeT TEETOT coorrrnreseo @ ggarera & fow 3uor 3 AT AT 3
(31) Bifer Uys o gear (@) rRifes @ sgaar
(@) Trdfere s o sgear (7) e B12 o sgarar
FIGLU excretion test is used to detect ..................
(A) Folic acid deficiency (B) Biotin deficiency
(C) Pantothenic acid deficiency (D) Vitamin B12 deficiency
2. ZIRMeF AT & sice soEPoRRT F TG T i Rag a3 T
(37) socT FWeST WA (§) @IoaT FAoeed
(&) gCrEe (?) FTifegas Afgaer
The enzymes of glycolysis in a eukaryotic cell are located inthe ................
(A) Inter membrane space (B) Plasma membrane
(C) Cytosol (D) Mitochondrial matrix
3. 9 GO sifaefioier & o BIar ¢ 99 ot sigeiva & ey foeear R Sedt ©
T fRflorer & Hb & Sgar iR Tewr & wrar ¥ 39T ufhar & fow Boed & & da-ar
U< ggF oiar gl
(31) Sgeaa (¥) Feonstaa
(&) e (3) ssEARwr

As hemoglobin binds oxygen molecules, its affinity for oxygen increases, driving the binding of
further oxygen molecules. Which term best describes this phenomenon?

(A) Saturation (B) Catalysis
(C) Allostery (D) Isomerism

4, VYCITE B s dics & el oeg avfe fHar & Twar ¥
(31) TESioler §ies (@) o dies
(&) gt svo dies (?) uf¥foe 90 dis
The nature of peptide bond can be best explained as ...................
(A) Hydrogen bond (B) lonic bond
(C) Truly double bond (D) Partial double bond
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5. guT gooeie Refel & v da-ar g sod 32
(37) I sgeimor & fow forg & g Bavit I weed Adt T
@) oz e wa i urar o ¥

(&) foae 3THr ST WO @)ofs dos & gowafio ¥
All the following statements are true for fat soluble vitamins. Except
(A) They require bile salts for absorption
(C) Liver is their storage site

6. e 3 & P TIF IYP Ig ¥?2

(B) They exist in provitamin form
(D) Soluble in organic solvents

(31) IgM @) 19G
(@) IgA () IgE
Which of the following is the most abundant immunoglobulin (Ig)?
(A) IgM (B) 19G
(C) 19A (D) IgE
7. e F & dg o Rawe oide 32
(31) wRigs Rawe (@) wstEe Rawe

(&) TedeerseT RAwe () Riwe RFar snalRs weomsa afdfdfer &

Which of the following is a nuclear receptor protein?

(A) Steroid receptor (B) Adhesion receptor

(C) Serpentine receptor (D) Receptor with no intrinsic enzyme activity
8. Hftodic ggae o w aryr fRAdwar adt ¥2

(31) oar ¥ (8) Tow Haga R ar ¥

(&) 37 ofd & SR o e fumee gar &

() fErar o foae gfg & adt ¥

The characteristic of malignant other than a benign tumoriis ........

(A) Undergoes metastasis (B) Develops blood supply

(C) Cell divides an unlimited number of times (D) Grows without needing a growth signal
9. oo arId T e o ey dre-ar 52

(31) Rrenowr (&) wawrst. o-u el
(&) Tt oru Rsaee (3) urTRdc TIEed
Which of the following is the major point of regulation on the pathway to cholesterol?

(A) Thiolase (B) HMG co-A synthase
(C) HMG co-A reductase (D) Pyruvate kinase

10. foraeT F-&F DIT-TT TAT TIOT IT JEAT AU AT Beororerens
(37) sgor IS sgmonea & fRuda dar ¥
(§) Iz o IJa F JET sIsTemiss gHel o JAT Th HOUwss gl
(@) I AE NFiAfT wu TEk Farl
() Iz T W do0 cgde F Rug ARwRT ger sgde smeivr & gade wear 3l
Which of the following statements best describes insulin?
(A) Its action is antagonistic to that of glucagon

(B) It is a small peptide composed of a single chain bridged by disulfide groups
(C) It does not have a Pro-hormone form

(D) It promotes glucose absorption from intestine and renal tubular cells
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